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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

MW
1 Frank, Mary and Seth shared some sweets in the ratio 4 :5:7 04
Seth got 18 more sweets than Frank. 'o6 & l

Work out the total number of sweets they shared.

F: M3 Totwd
L 5:F 6

Mory g = @&\5?‘“ e % Seth get |3 VWW—H’\W
Fronk got L 50 T_;a;l‘K,sMe@l»JD 30
.13,59

. 19
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2 PQR is a right-angled triangle.

(Total for Question 1 is 3 marks) _____._.
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Work out the size of the angle marked x.
Give your answer correct to 1 decimal place.

. eey
S\n 3¢ = ST

“P AL

S\wnx = -‘%: > = 20.9

= Sm-‘( )

(Total for Question 2 is 2 marks)
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3 Here are the first four terms of an arithmetic sequence.

r
e A T

(a) Write an expression, in terms of », for the nth term of this sequence.

&%
N—+2 ®co

M1

The nth term of a different arithmetic sequence is 3xn + 5

(b) Is 108 a term of this sequence? M w 'o z

Show how you get your answer.

An + 5 - 10¢% @
@ 3N =103

@ n =33 @
N U Ot o whole nowmbe S0 NO,
: 108 ro NOE_n e 2e

Need o jowm (2)

A . (Total for Question 3 is 4 marks)

a5 AWM e b 33+ S =
5™ M b 3x35 +G=

MiSses oot 108 pono.
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4 Axel and Lethna are driving along a motorway. \‘\M

They see a road sign. w
The road sign shows the distance to Junction 8
It also shows the average time drivers take to get to Junction 8

To Junction 8
30 miles
26 minutes

The speed limit on the motorway is 70 mph.
Lethna says

“We will have to drive faster than the speed limit to drive 30 miles in 26 minutes.”

[s Lethna right?
You 1;’nust show how you get your answer.

0 | 307020428 2630 0Us3 Ioilbs 1S3

' | 11163 ..
box O'42%... Jox O-L3Y... 6o
f‘ ~ 267 IU;N w30 ' mles X 6918 nr\n

. vdls Zomits
Q) Travals M Tequdt 30-3mils o o "L"‘" )

ond ConcusioR

So NO- Lethpa s wWrong - Jov neod A towel
= ot 6323 M Tar yoo oo Covl

30-3 nally,
(Total for Question 4 is 3 marks)
DR. 26 mms =» 30 My quu i
. 1 min = 30 wilo |
26 I/L
60 Mminy = 30xbo milu = 6923 mpPn.
26

30 mfla 60 mns =  Fowule
- tm;:i:b 30, amlse

3 ) .
26 Mot = %%_xzémbo:{ﬂ(bgwtw,

J N0
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5 The table shows some information about the foot lengths of 40 adults. / @

“ b Foot length (f cm) Number of adults mp £9*
L le<f<Is 3 x |7 |8l
0 u
O 18<f<20 s % 19 |l
20<f<22 0 %2 |20
20 < f<24 12 & )3 216
24 f<26 95 Y 1527_?_5
guo & 2816
(a) Write down the modal class interval. @

(b) Calculate an estimate for the mean foot length.

can- ¥k =219
b R

o 2149

(Total for Question 5 is 4 marks)

|~ Mgy 0L
A JC@{ MJ\OLPO\V\t by NO- %MMB

M degs £~ 3365 4O
At e gl

27 AE wWonA o .
Oﬂiﬁ QM‘O?NO Mok Jev 22 withrout Wovkdve,

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June 20I5w

W 2 [ ? q M W"W?tez\zj}[




-

6 Triangles ABD and BCD are right-angled triangles. M o~

! of

5 em 10 cm
g |
pU . D
X cm 4 cm

Work out the value of x.
Give your answer correct to 2 decimal places.

?:, ",ot_ I = \)—"l'—g @
= 56 457@

- q j (Total for Question 6 is 4 marks)

Lons NoT_paonteol as e em F 6ot denot Lo a

= Q53 q 537
Ao oy angaer hotween &

Ndudirg 953 ond 45l
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7 The graph of y = f(x) is drawn on the grid. “@ \60

7
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(a) Write down the coordinates of the turning point of the graph.

S UL (XY RRU

(b) Write down the roc%af flx)=2
e =g Solution.

Nood both angwen 'f..?t‘f/ml_-_l-}__

(c) Write down the value of £(0.5)

Value of ¢ ¢s O-'S Alow 3F —3-3 nclustve

At = 0.§ e Veriheal @3'?5
(J.\‘\Q MQE“’S "-hg Cuwive ot 3~q-$'

(Total for Question 7 is 3 marks)
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8 In a box of pens, there are

three times as many red pens as green pens
and two times as many green pens as blue pens.

For the pens in the box, write down

the ratio of the number of red pens to the number of green pens to the number of blue pens

le¥ blue be one Part
Qreen Wit be 2 Poarcts
Red Wi b @ pPads
Red . Grreen @ Blue

6 : Z : , m (Total for Question 8 is 2 marks)
N

Lor one corfed nterprtetion,
XY,
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.
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9 ABCD is a rectangle. A 3x+4 B
EFGH is a trapezium.

—Tx-3—»

All measurements are in centimetres.
The perimeters of these two shapes are the same.

Work out the area of the rectangle.

Boc +4 + 3¢ +§ F4ntUNS -8+ 53¢

" wmc +su+?"’-3
@:‘?wal\sm lmewalﬁgsior\ gither Jef m,devﬁzg
() 14 9c tg = 18-6 BV Hogpg yiom)
S s bn=b > Formarg an

@ & 2quohon
4= 4

|« - D

4 e =S 0.¢. 1 ¢ 31]
Rceo of Recranales #3&(3:9 +4)
it e hxas(3%35 +4)

@ L5 BB o= 203cmt

203 ..

COAO  (Total for Question 9 is 5 marks)
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10 Katy invests £2000 in a savings account for 3 years. “\
The account pays compound interest at an annual rate of M
2.5% for the first year

x% for the second year

x% for the third year
There is a total amount of £2124.46 in the savings account at the end of 3 years.

(a) Work out the rate of interest in the second year.

Yew t 2000 x 1.025
=112050 ‘ﬂ'

Nex b +wo Years

2.0 §©
[,:, % _ 1244 ¢ — 1
\w*’ 100 "'J 2050
N\C z-.'-““‘ ..............................................
%= loo C’ s )

Katy goes to work by train. N= ' 8 /
®
The cost of her weekly train ticket increases by 12.5% to £225 @

(b) Work out the cost of her weekly train ticket before this increase.

W&t ¢ = J00O A
J:rns
t225= 112-5 N

e e 225 = 1.12S

(Total for Question 10 is 6 marks)
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S and T are points on the circumference of a circle, centre O. C - mJ/\/\- -
PT is a tangent to the circle. &G&

SOP is a straight line.

Angle OPT = 32°
Work out the size of the angle marked x. ‘ C,‘ )
You must give a reason for each stage of your working, u-‘wm PA‘M
le oTP=40" thto i=90
ongle = on® tengn” = TN

A0+232 ! ’-7- A

&
exie o e °f 4
.of V\W\o? OPPM'K o‘am' Cl

y O R MQ aj: W (Total for (;mstlon 11 is 4 marks)gy\f\
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12 A and B are two sets of traffic lights on a road. mw \
The probability that a car is stopped by lights A is 0.4 \6

If a car is stopped by lights A, then the probability that the car is not stopped by
lights B is 0.7

If a car is not stopped by lights A, then the probability that the car is not stopped by
lights B is 0.2

(a) Complete the probability tree diagram for this information.

lights A lights B
stop g
stop
not stop
stop
not stop

not stop

W 0-6806 )e;(%:fz)ne bpunthes @

Mark drove along this road.
He was stopped by just one of the sets of traffic lights.

(b) Is it more likely that he was stopped by llghts A or by lights B? )

l You must show your working. l”o UON"\A—"“P( no MOMAD o 5”{7 )
N - 0-4¥0.F = 0-283

: \ /
@ Uk/f tb\e OHJ\Q[ MU WW%OH%%? ggé,)tmn 12 is 5 marks)
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. = 25=K
13 d is inversely proportional to ¢ d < Ec" d - % ’ gi,—s%
When ¢ =280, d=25
‘ Find the value of d when ¢ = 350 L @
: CRR
",\P a b
1N 2612 e &
1000 = K

(Total for Question 13 is 3 marks)

14 Prove algebraically that N\\’S

(2n+ 1> — (2n + 1) is an even number

Yerms
for all positive integer values of . @ p‘“ﬂ ki
&n? + 2n 42N + )= 2n =)

q,nq'\-l.\ﬁ"%*\-\
unt *-'Ln-dk@ °"D
Fadormuse 2n(n v

@ 2n \$ umu.“\?\(v °f$ oo

2
n(ry) LS olse © Ww—\’"\’\‘ ‘5
W) \Q,Ap MO-LCS \»\' CVfJ\ (Total for Question 14 is 3 marks)

hence
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15 Prove algebraically that the recurring decimal 0.25 has the value 23

|0 x (3“-'-0-25 )xI0 X = 9'5.5 @
oYX = 2.55 _ Xz Dlsﬁ

Ax = 2.3
Covs ek wwV»"‘“f)M”M{ o o _ 2.2a1e

needed q ~
A b m Xell o
o gf“u 9o

(Total for Question 15 is 2 marks)

. + .
simplifies to it b where a, b, ¢ and d are integers.

I o
6x> +7x—5 4x>—1 cx+d *\'“D

b3S s (3XADINAX =) @X
gxlla  (2%-) L2x+1)

\ X @-M@
\

16 Show that

. (Total for Question 16 is 3 marks)
jwt Mmebihod MOVIA @Aorﬂzf (( 3o £5) (2 t'))tbﬁl@%
L —1) (1a+!) ke
L wﬁ‘b # G
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17 The diagram shows a sector of a circle of radius 7 cm. \l"w\

7 cm

Work out the length of arc AB.
Give your answer correct to 3 significant figures.

C= 2 x|
40 Q_&Rx—l

3bo
- 4.%1 @

(Total for Question 17 is 2 marks)

M\

~...€m

Y Allow oMy angwes
bobven (o9 49 incdudive .
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L

Js o Mw 7.06

18 m=— s = 3.47 correct to 3 significant figures

t = 8.132 correct to 4 significant figures

N 'é i By considering bounds,\work out the value of m to a suitable degree of accuracy.
[

Give a reason for your answer. |

MINMO M. Velwe ) M > JBowin .

t o

(B1) Jor extier
2.465 of 3:LkI5 - j—m .

C"" &lﬂ-tﬂ‘i‘i?aﬂ) 1315
1315 o = 228 OIO:SQZSOI
- Qgcg 1325 (of 8- \324:97 ? 9_——-————§
Moudmum volue 24 m): J Sorons ﬂ
T A
t min @DEﬂ
\ Nne

=0'22924¥6243

To 3 2. both e C_)_-'T’):,-%-i——@w*‘m
5280 oppropiote  Communk

(Total for Question 18 is 5 marks)
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19 The graph of y = f(x) is shown on both grids below. “

ST 3 T |0 7 3 g
2
_4

(o VTeck Fhor

Pourdoola 1 AX\S,

(a) On the grid above, sketch the graph of y = f(—x) M\)gt- (:)Q, W‘d r\p M(
- pauss thvghn (016, (2118 &

(k)

|
0

|
o
o)
oo
=V

?)

(b) On this grid, sketch the graph of y = —f(x) + 3

M | P&S%\nguﬁd"\ C'LH"‘)) (-1, 3) ) CQ‘AHD

(Total for Question 19 is 2 marks)

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June 2015 w
© Pearson Education Limited 2015



( -
20 Solve algebraically the simultaneous equations ’
P MW 2 \ |5
9= 2x+5
\2_ 3% (ED
11-? C lk.‘l"b) =
x4 L+Jc,1'+'101-l- 28 =25 @

Sx V0% 425 = 15
-2% =25

5;,_‘:;2_;».-.0
Sx (x+4)=0 )

MN=0 ==-4 @

Sgbs": *0'\" AN )

H-:-?.)L‘l's ("\ e
:‘—1 0 s- g,l” . t+
Yz 220+ J=-S‘+S

9= .3

M= PRIT R Y

(Total for Question 20 is 5 marks) Kok
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21 In triangle RPQ, “N

5 | (p1) ot [ elled

20>
RP=8.7cm v
PO=52¢m

Angle PRQ = 32°

(a) Assuming that angle POR is an acute angle,
calculate the area of triangle RPQ.
Give your answer correct to 3 significant figures.

R

obia@raw\
ol 8-+

Sine Rinle ?il@—- > Swol

stn&ZM

5.2 Aoty ony

W s it aalis o tine efect . ®

(b) If you did not know that angle PQOR is an acute angle, what effect w
your calculatlon of the area of triangle RPQ?

CThen Bz 190 < 6o = JI3:55

(n

T\f\i MQ ak P \) AW\alM /)0 \{' PS %ﬁon 21 is 5 marks)

A

P =

$\V\Q 1\ 7/
iR [ Aveow = 1 alaswmC

e O
Ef)“m o‘/\S .
50\03 —\,\ B - -1y 52X 8._‘1-

- X Sin 35-55

g% 52 = 27255 M

sh A= 0°9%6651--.. RNEWES BWW
6’2'[\-0 N5~ Zl’émd”}l‘y

D2 10L (324 55) = 304k bl s
50 Avm-_..KS UG- Fxom 0 - £ 1 kT 203 Lk in .

o
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22 A frustum is made by removing a small cone from a large cone as shown in the dlagram

T ‘ ‘k
"i { Y\
R
’ \
’ \ 1
g \
\

15 cm

Volume of cone = 5‘—75}"2.&

10 cm

4¢— |2cm—————»

The frustum is made from glass.
The glass has a density of 2.5 g/cm?

Work out the mass of the frustum.

Give your answer to an appropriate degree of accuracy.
Valumeqéllwge (one x~nx6 15 = 180™

Padivs ¢ zwoll Cove = 3 s 6 = Acm. [&WW AS]O

= 20
\IO\UMe a& SWMCoﬂe = (-% X 1T X 2'x§5 = =L T

[oR @n use volure Jacter lgow..q::ryl
\10\~m ->a, {rwﬁvm - g0t ~ ’Lofp — SLO’W - hh Sk

Mﬁg /l SX 6']*_)1_ 6'1» -y 56‘ ;@ ........... 1360 ...... .g

al for Question 22 is 5 marks)

TOTAL FOR PAPER IS 80 MARKS

Jcor dr\\v\ak W\M\« = appfa‘?r‘lake deﬂree ﬁacwrwc@
M 1361 ot 1360 A 1400

CWlE’\O[dfw\ol MasK % AN SRS %«u&« o 5 or Mive Sig: fs]
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